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4.3.3 What does the joint density look like?
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> library(MASS)
> x = mvrnorm(n = 1000, mu = ¢(0,0), Sigma = cbind(c(1, 0.8), c(0.8, 1)))
> head(x)
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> cor(x[, 1], x[, 2])
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> Sigma = cbind(c(1, 0.8), ¢(0.8, 1))
> Sigma
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> cor(x[, 1], x[, 2]) > cov(x[, 1], x[, 2]
> cor(x[, 1], 100 * x[, 2]) > cov(x[, 1], 100 * x[, 2])
> cor(0.001 * x[, 1], 100 * x[, 2]) > cov(0.003 * x[, 1], 100 * x[, 2])
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> persp(kde2d(x[, 1], x[, 2], n = 50), phi = 30, theta = 20, d = 10, col ="lightblue",
+ shade = 0.75, Itheta = -100, border = NA, expand = 0.5,
+ xlab = "x", ylab ="Y", zlab = "density")

> mtext("bivariate standard normal", 3, 1)
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>n = 1000
> lambdas =rlnorm(n, 1, 4)
> mat = matrix(nrow = n, ncol =2)
for loop CHLEE (mat OF-HFE1IZKT 25 2 DOMEZHINT )
> for (iin 1:n) { matli, ] = rpois(2, lambdasli])}
> mat[1:10, ]
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> mat = log(mat+1)
A TERL
> persp(kde2d(matl, 1], matl, 2], n = 50), phi = 30, theta = 20, d = 10, col = "lightblue",
+ shade = 0.75, box = T, border = NA, ltheta =-100, expand = 0.5,
+ xlab = "log x", ylab = "log Y", zlab = "density")

> mtext("bivariate lognormal-Poisson", 3, 1)
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